
















Define an unknown
u(,+)

u : IR x 50 , 0) +> IR

S(x ,+) + u( ,+) EIR .

u( , +) >0i(x)
T

M+ = (x = u(x , +) =03 ↑t

(x) = - u(x ,1 and (x)=-

(Du(x , +))

(Du(x( ,+)x(+) = H(x(+))v(x(t) = (divi (x(t)
(Du(X(H) ,+))



















































(u)t + Du = Flut)
-

g(x)
i

(n"+)+ + Xukt = 7(uk)

uk + u .

Y
Remark 2-nu local uniformly
Say n-4 has a max at (oito)

·
P=0

and D4(40 : to) = 0 -
u2-Y has a nearby max at (xgi +a)

















Theorm : #f AEC (IR" ,
to ,c)

,
then !2 = 130

such that

him xt =G
loc

. uni inX

Open problem : u(x,+) - At t ?? X(X) !

Sketch of proof :

① u is Lipschitz (Berstein's method for Y=DUK

or = ID) .

② eupp(f) <B(O ,R) ,
maxu(x ,+) = max u(x ,+)
XEIR" X B(O ,R)










